12”0593 (K12n0593)

Linearized knot diagam

/6/@ T

v 7 11 7 10 2 4 12 3 5 9 8

| “1/

1

Solving Sequence

912 41223 28 > 1> T 25 22> 6 > 10 > €15 0o
A knot diagranﬂ 1 3 8 12 7 4 2 6 10

Ideals for irreducible component#ﬂ)f Xpar

I = (—3.56874 x 10* u** + 1.26158 x 10%*4* + ... + 1.98880 x 10**b — 6.49981 x 10**,
— 756930 x 10%3u** — 2.14961 x 10%°u* 4 - -+ + 1.39216 x 10*°a + 1.06952 x 1036,
u®® + 18u™ + - 4+ 19u — 7)
I = (u'® +u'? 4 6u + 50’0 + 120° + 8u® + 6u” + 3u’ — Tu® — 2u* — 5ud — u? + b+ 2u,
—2uM — 20! — 140" — 110!t — 3600 — 210° — 37u® — 1567 — 4u8 — 5u® + 14wt — Tud + 4u® + a — 4u,
u'® +ut + 8u® 4 Tut? + 250t + 1900 + 3610 + 240 + 18u” + 13u8 — 8u® + 2ut — Tud +u? +2u+ 1)

* 2 irreducible components of dim¢ = 0, with total 60 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I} = (—3.57 x 103" u** 4 1.26 x 10%*u*® 4 ... + 1.99 x 10%>*b — 6.50 X
1034, —7.57 x 1033u?* — 2.15 x 1035u*3 4 ... + 1.39 x 10%°a + 1.07 x
1036, w45 + 18u*3 + ... +19u — T7)

(i) Arc colorings

0.0543710u** + 1.54408u*3 + - - - + 25.1156u — 7.68247
0.00179442u** — 0.634340u*3 + - - - — 9.30054u + 3.26821

0.0561654u** + 0.909740u*3 + - - - + 15.8151u — 4.41426
0.00179442u** — 0.634340u*3 + - - - — 9.30054u + 3.26821

a7 =

—0.420878u** 4 0.770220u*® + - - - + 18.2959u — 5.48848

0.0890726u** + 2.49598u*3 + - - . + 43.3584u — 17.2410
0.753177u** — 0.733270u*> + - - - — 18.9174u + 5.28417

—1.09866u** + 3.02308u*3 + - - - 4+ 57.4402u — 18.2187
0.664157u** — 0.175210u*3 + - - - — 7.32914u + 0.757240

—1.21775u** + 2.63075u*® + - - - 4+ 45.0187u — 14.3526
as = \ 1.28859u** — 0.261761u*3 + --- — 11.5685u + 2.33427

(2.87696u44 —1.48285u*3 + - .- — 5.99600u + 8.64539)
a0 =

0.358819u** — 0.964669u*3 + - - - — 26.2905u + 8.77144 >

a5 =

a9 =

0.352943u** + 0.731911u*3 + - - - + 12.7349u — 5.07045

(ii) Obstruction class = —1

(iii) Cusp Shapes = —0.911134u* + 1.98306u® + - - - + 48.6124u — 24.1982



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1 u® 4 56ut + - + 603838u + 78961
C2,Cg u® — 28u* + .. 4+ 1642u — 281
€3 u®® 4+ 3utt + .+ 25u+5
Cq4,C7 w5t 4+ 23u+1
cs5,C10 u®® — M 43830477
€8, C11, C12 u®® +18u® -+ 19u — 7
c 45 44
9 u™ + 4u™* + - - - 4+ 14063662u — 7404196




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 Y —120y* + - - — 392839435230y — 6234839521
Cs, Co y*® — 56y + - + 603838y — 78961
€3 y?® — M 4 £ 595y — 25
C4,Cy y* 45yt 4 1T3y — 1
C5, €10 y*® + 3y + - + 136371y — 5929
€8, C11, C12 y* + 36y + - — 157y — 49
Co Y — 28y* + ... 4 252875184270700y — 54822118406416




(vi) Complex Volumes and Cusp Shapes

Solutions to I} VvV—1(vol + /—1CS) Cusp shape

1.008740 4 0.1051871
—0.793375 4+ 0.4216151 | —12.4412 — 8.81861 | —11.24074 + 4.621661
—1.17957 — 1.056751

1.008740 — 0.1051871
—0.793375 — 0.4216151 | —12.4412 4 8.81861 | —11.24074 — 4.621661
—1.17957 + 1.056751

—0.386406 4 0.9010261
0.972143 — 0.2615631 | —1.53875 4 2.615221 | —10.52840 — 2.220981
—0.853990 — 0.2243491

—0.386406 — 0.9010261
0.972143 + 0.2615631 | —1.53875 — 2.615221 | —10.52840 + 2.220981
—0.853990 + 0.2243491

—0.973608 4 0.0859741
—0.651872 4 0.1668351 | —12.05690 + 0.392671 | —11.73771 — 0.231931
—1.12732 — 1.187221

—0.973608 — 0.0859741
= —0.651872 — 0.1668351 | —12.05690 — 0.392671 | —11.73771 + 0.231931
—1.12732 + 1.187221

0.059330 + 1.0652801
2.12098 — 2.588131 4.60968 — 0.456781 | —4.72300 — 1.289701
0.090245 + 1.1685001

0.059330 — 1.0652801
2.12098 + 2.588131 4.60968 + 0.456781 | —4.72300 + 1.289701
0.090245 — 1.1685001

0.114676 + 1.0680301
0.114025 + 0.1940881 0.63009 — 3.638991 | —6.69888 + 4.562631
1.033700 + 0.3245731

0.114676 — 1.0680301
0.114025 — 0.1940881 0.63009 + 3.638991 | —6.69888 — 4.562631
1.033700 — 0.3245731
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Solutions to I} V—1(vol+ v/—1CS) Cusp shape
u= —1.07704
a = —0.250717 —b5.84338 —27.3640
b= —0.595129

u = —0.759699 + 0.4083231
a= 0.154012 + 0.4331761
b= 10.747946 — 0.6189271

—2.98722 4 1.752521

—12.73751 — 3.212281

u = —0.759699 — 0.4083231
a= 0.154012 — 0.4331761
b= 0.747946 + 0.6189271

—2.98722 — 1.752521

—12.73751 + 3.212281

u= 0.847403
a=—1.81130
b= —0.770728

—6.54062

—18.4620

u = —0.130385 + 1.1457501
a = —0.383923 — 0.9317201
b= —0.511829 + 0.5221361

2.58249 + 1.788361

—4.62276 — 3.947311

u = —0.130385 — 1.1457501
a = —0.383923 + 0.9317201
b= —0.511829 — 0.5221367

2.58249 — 1.788361

—4.62276 + 3.947311

u = 0.288094 + 1.1839801
a = —0.40323 4 3.108961
b= —0.594143 — 0.7155091

0.14683 — 6.351481

—6.06536 + 8.652051

u= 0.288094 — 1.1839801
a = —0.40323 — 3.108961
b= —0.594143 + 0.7155091

0.14683 + 6.351481

—6.06536 — 8.652051

u = —0.072450 4 1.2928501

a = —1.19970 4 1.907531 3.92457 + 2.868011 0. —4.929671
b= 10.303712 — 0.2197521

u = —0.072450 — 1.2928501

a = —1.19970 — 1.907531 3.92457 — 2.868011 0. +4.929671

b= 10.303712 + 0.2197521




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= 0.114422 + 1.3236901
0.257409 — 0.9038281
—1.119530 +- 0.5481611

1.39290 + 0.756811

0.114422 — 1.3236907
0.257409 + 0.9038281
—1.119530 — 0.5481611

1.39290 — 0.756811

0.386963 + 1.2772201
1.013090 — 0.5122751
0.784008 — 0.0302151

—2.57080 — 4.431711

0.386963 — 1.2772201
1.013090 + 0.5122751
0.784008 + 0.0302151

—2.57080 4 4.431711

—0.516771 + 1.2442201
0.81944 + 1.897681
1.07051 — 1.159781

—8.49081 + 4.891951

—0.516771 — 1.2442201
0.81944 — 1.897681
1.07051 + 1.159781

—8.49081 — 4.891951

0.569830 + 1.2415701
—0.734691 4 0.1903231
1.15852 — 1.016281

—8.96525 + 3.255291

0.569830 — 1.2415701
—0.734691 — 0.1903231
1.15852 + 1.016281

—8.96525 — 3.255291

0.205740 + 1.3714401
—0.63512 + 1.756571
—0.338407 — 1.3482201

8.00276 — 3.839371

0.205740 — 1.3714401
= —0.63512 — 1.756571
= —0.338407 + 1.3482201
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8.00276 + 3.839371




Solutions to I} V—1(vol + v/—1CS) Cusp shape
= —0.550103 + 1.2935901
= 0.059859 4 0.5011107 | —1.88022 + 5.736061 0
= 0.624990 — 0.2741381
= —0.550103 — 1.2935907
= 0.059859 — 0.5011107 | —1.88022 — 5.736061 0

= 0.624990 + 0.2741381

= 0.582077+ 0.1061721
= 1.27394 + 1.424461
= 0.829596 — 0.6676781

—3.07621 4 3.071451

—13.51053 — 3.599201

0.582077 — 0.1061721
1.27394 — 1.424461
0.829596 + 0.6676781

—3.07621 — 3.071451

—13.51053 + 3.599201

—0.45273 + 1.369821

= —1.002820 — 0.4193541 | —7.48754 4 5.490611 0
= 1.17560 + 1.200401
= —0.45273 — 1.369821
= —1.002820 + 0.4193541 | —7.48754 — 5.490611 0

= 1.17560 — 1.200401

= 0.471958 4+ 0.2712531
= 0.837882 + 0.2910231
= 0.128615 + 1.1367101

2.86451 — 1.3051871

—1.84549 + 5.317521

= 0.471958 — 0.2712531
= 0.837882 — 0.2910231
= 0.128615 — 1.1367101

> Q& €| & €|l & €| & €| €| 2 8| Q& 8| & &
Il

2.86451 4 1.305181

—1.84549 — 5.317521

u=0.46756 + 1.384481

a= 0.47175—1.916741 —7.7658 — 14.08131 0
b= 1.18172+ 1.083841

u= 0.46756 — 1.384481

a= 0.47175+1.916741 —7.7658 + 14.08131 0
b

= 1.18172 — 1.083841




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.22570 + 1.498631
a= 0.21030 — 1.424361
b= —0.691548 + 0.9920571

3.35542 + 5.283631

u = —0.22570 — 1.498631
a= 0.21030 + 1.424361
b= —0.691548 — 0.9920571

3.35542 — 5.283631

u= 0.094137 + 0.3912581
a= 2.78827 —0.140831
b= —0.752412 + 0.1542611

—1.06912 + 2.394941

—7.24233 + 0.847831

u = 0.094137 — 0.3912581
a= 2.78827+ 0.140831
b= —0.752412 — 0.1542611

—1.06912 — 2.394941

—7.24233 — 0.847831

u = —0.361714
a= 0.913846
b= 0.445021

—0.670926

—14.8180




II.
I = (u3+u'?+- . - +b42u, —2u'*—2u'®+..-4a—4u, u'S+u?+- .-+ 2u+1)

(i) Arc colorings

ay =

ult +2ut 4+ 4 du -2
a7 =

ut et 2u 1
3ul3 + 202+ 4 2u—1
w9 + 4% + 5ud + 44" + 8ub + 5ud + 3ut + 2ud — 2wt +u
ult +3uB 4 u+2
—utt —2ul .. —3u—1

2u143u13+~~2u2)

as =
a9 =

ag = w2+ 4+ 3u+1

—2ult — B 4 du+ 1
a10 = \ —u'® —u'? — Tu — 6u'® — 184 — 13u® — 18u” — 11uS — 2u* + 8u*

(ii) Obstruction class =1

(iii) Cusp Shapes = —u!* + u'? — 10u!? + 4u!t — 35u!0 + 4u? — 50u® — 3u” — 118 —
12u® 4 36u* — 19u3 + 18u? — 10u — 12

10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u® —13uM 4+ 4 9u—1
€2 u® — 4 3u— 1
cs R I v S |
= ut® 4 2utt 4?1
= u'® +7u' o+ 3u + 1
C u +utt 4+ B3u+ 1
7 u® —2uM 4 4 41
s ut® — !t 2u -1
9 ul® 4+ 5ut .- — 10u + 52
10 u® Tt = 3u? -1

C11,C12 u® ot 4 2ut1

11



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 g oyt Ty 1
o, Cg Y — 13y 49y — 1
€ y'® + 6y + -+ 10y — 1
C4, C7 Yy 8yt 4 — 8y —1
s, C10 yP 1yt —6y—1
8, C11, C12 yB 15yt 42y -1
€9 y'® + Tyt + - — 5828y — 2704

12



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/=1CS) Cusp shape
u = —0.957819
a = —0.661926 —5.43240 —5.96330
b= —0.464046

u = 0.170684 4 1.1919401
1.99278 — 2.509471
b = —0.224051 + 0.9942131

a =

4.95411 — 1.544031

—1.95869 + 3.908881

u= 0.170684 — 1.1919401
a= 199278 + 2.509471
b= —0.224051 — 0.9942131

4.95411 + 1.544031

—1.95869 — 3.908881

u = —0.065754 4 1.2803601
a = —0.214962 + 0.1734041
b= —1.132550 — 0.2359681

2.00576 — 2.038531

—5.38866 + 3.461551

u = —0.065754 — 1.2803601
a = —0.214962 — 0.1734041
b= —1.132550 + 0.2359681

2.00576 + 2.038531

—5.38866 — 3.461551

u = —0.438447 4 1.2261201
a= 0.397262 — 0.0916761
b= 0.546264 — 0.0570681

—1.69926 4 4.990191

—7.83136 — 3.680331

u = —0.438447 — 1.2261201
a= 0.397262 + 0.0916761
b= 0.546264 + 0.0570681

—1.69926 — 4.990191

—7.83136 + 3.680331

u= 0.574249 + 0.2017781
a = —0.090007 + 0.4689271
b= 0.257595 + 1.3146201

2.04734 — 1.060981

—12.25326 + 1.450221

u = 0.574249 — 0.2017781
a = —0.090007 — 0.4689271
b= 0.257595 — 1.3146201

2.04734 + 1.060981

—12.25326 — 1.450221

u = 0.227689 + 1.3940801
a = —0.46823 + 1.791911
b= —0.35742 — 1.579831

7.19370 — 4.019881

—7.47475 4+ 4.217011

13



Solutions to I3

V=1(vol + y=1C)

Cusp shape

= 0.227689 — 1.3940801
—0.46823 — 1.791911
—0.35742 + 1.579831

7.19370 +- 4.019881

—7.47475 — 4.217011

—0.17862 + 1.441511
= 0.40873 — 1.604381
= —0.707302 + 0.8255281

4.37895 + 5.246841

—1.49909 — 5.499031

= —0.17862 — 1.441511
0.40873 + 1.604381
= —0.707302 — 0.8255281

4.37895 — 5.246841

—1.49909 + 5.499031

—0.310890 + 0.2627051
—0.69461 + 2.220451
0.849487 — 0.4494041

—1.36000 + 3.178481

—10.11254 — 7.005551

= —0.310890 — 0.2627051
= —0.69461 — 2.220451
= 0.849487 + 0.4494041

—1.36000 — 3.178481

—10.11254 4- 7.005551
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 (u'® — 13u™ + - 4+ 9u — 1) (u*® + 56u* + - - - + 603838u + 78961)
C2 (u'® — w4 30— 1) (U — 28u® + -+ 16420 — 281)
C3 (u'® — 2uM + - 4+ 50 — 1) (u®® + 3u™ + .- + 25u + 5)
C4 (u'® +2u™ + - — 4u? — 1)(u®® + 5u -+ 23u+ 1)
€5 (u'® 4+ 7ut® 4+ - 4 30 4+ 1) (u®® — w4 383u 4 T7)
C6 (u'® +ul + o 3u+ 1) (u* — 28u*® 4 - - + 16420 — 281)
cr (u'® — 20 + - 4+ 1)(u®® + 5ut o+ 23u+ 1)
cs (u® — w4+ 2u— 1) (U +18u* + -+ 19u - 7)
Co (u*® 4 5u + .- — 10u + 52)
(u® + 4ut + -+ 14063662u — 7404196)
10 (u'® + 7u® + - = 3u? — 1)(u®® —u* 4 - 4 383u + 77)
c11, €12 (u® + Wt 2u 4 1)(u45 +18u® + - 4+ 19u — 7)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1 (W —M 4 —Ty—1)
(y*® — 1209 + - - — 392839435230y — 6234839521)
Ca, Co (y'° — 13y + -+ 9y — 1)(y* — 56y™ + - - - + 603838y — 78961)
e (™ +6y™ 4+ 10y = (Y™ =y + - + 595y — 25)
c1, 01 (™ + 8! 4 = 8y — 1)(y" +45y™ + - + 173y — 1)
Cs, €10 (y"° + 14y™ + - — 6y — 1)(y™ + 3y™ + - - - + 136371y — 5929)
cg,C11,C12 (y15 =+ 15yl4 —+ e 4 2y — 1)(y45 + 36y44 4+ = 157y — 49)
co (y'® + 7y't + ... — 5828y — 2704)

(y* — 28y 4 - -+ 4+ 252875184270700y — 54822118406416)
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